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NI S 174,485 5.0 100,243 3.1 214,940 5.6 741 A18.8
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Ewls

o Sa|ad (EkS) : warel %)

2013d = SHE(%

T = 20144 - - &(%)
=2 z = ST
Al 475,444  H|g 457,782 | H|g 483,825 | Hlg 3.9 A7
X ogk A - - - - - - - -
M2 = ¢ 55,059 | 11.6 56,306 12.3 192,622 @ 39.8 A22 | AT1.4
PN RIS - - - - - - - -
=10 =Z 178,339 @ 37.5 186,850 @ 40.8 176,203  36.4 A4 B 1.2
X g M S 242,046 | 50.9 214,626  46.9 115,000 23.8 12.8 = 110.5

O AtA| = (M el=2l) : 551242 ('13 &XCHH| A2.2%2Z
- AAAALTY 31099, A AALFY 241999

, = ZSCHH| AT71.4%2)

Q2IEEF: 1,783 (13 HxrHH| A4.6%Z, =EUH| 1.2%F)
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saHokel o)
20134 = SUE(%
T B 201442 . : 2(%)
= 3 z = SESTETEEE
Al 246,379 Hg 255,482 | d|g 246,291 | tlg A3.6 0.0
XA - - - - - - - -
M2 = ¢ 25,598 | 10.4 27,187  10.6 70,088 | 28.5 A5.8 | AB3.5
X| gk 5 A - - - - - - - -
=1 HxZ 178,339 | 72.4 186,850  73.1 176,203  71.5 N4.6 1.2
X g S 42 442 | 17.2 41,445 | 16.2 - - - -
O ZATZIHE2Y : M2 964
- AR M) 13999, AN TY 0.59, TAAIY A= , Gt A Ad= 76999
O 9EZHI|ZRY Mg 2229 3 IEEF 1 784—., =MAHY{Z 5, MelF 221
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HE S48
5o 014 = _ 20134 _ _ E’F/o)
= 3 z = SESEIIEEE
Al 229,065 HIg 202,300 | tlIg 237,534 | Hlg 13.2 A3.6
XogE A - - - - - - - -
M2 = ¢ 29,461 | 12.9 29,119 | 14.4 122,534  51.6 1.2 | A76.0
X| gk 5 A - - - - - - - -
ZoExZ - - - - - - - -
X g xS 199,604  87.1 173,181 85.6 115,000 @ 48.4 15.3 73.6
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(EH9| @ siobel %)
R 014 & . 20139 = _ _%7:.‘%_%)
S z B SESTTEE ]
AH 3,521,100 @ d©l& | 3,259,300 ©l& 3,831,238 tdlg 8.0 A8.1
X8k A 700,600 19.9 685,000 21.0 668,500 17.4 2.3 4.8
HEAM 522,900 14.9 517,000 @ 15.9 502,000 13.1 1.1 4.2
CFHEA 357,400 @ 10.2 365,000 @ 11.2 350,000 9.1 A2 2.1
- S EHEA
(=2 ) 26,000 0.7 21,000 0.6 21,000 0.5 23.8 23.8
- HE A - - - - - - - -
- A 2] A 139,500 @ 4.0 131,000 4.0 131,000 3.4 6.5  100.0
=5 A 166,000 4.7 158,000 4.8 156,500 4.1 5.1 6.1
&?ﬁgﬁ‘ﬂ 28,000 0.8 26,000 0.8 26,000 07 77 77
- A A A - - - - - - - -
- AR A) 138,000 = 3.9 132,000 4.0 130,500 3.4 4.5 5.7
XA £ =2l 11,700 0.3 10,000 0.3 10,000 0.3 17.0 17.0
M2 = ¢ 69,719 2.0 127,178 3.9 261,624 6.8 | 2452 | AT73.4
AAMAM 2 =2 19,189 0.5 18,719 0.6 20,521 0.5 2.5 AB.5
Akl a4 500 0.0 604 0.0 596 0.0 A17.2 | A16.1
CAHEESFY 3,664 0.1 3,584 0.1 3,039 0.1 2.2 20.6
CFFEREFY 2,163 0.1 2,414 0.1 2,264 0.1  ~A10.4 A4.5
AN 2,508 0.1 1,905 0.1 2,803 0.1 31.7  A10.5
C AR ESY 5,311 0.2 5,212 0.2 5,219 0.1 1.9 1.8
oA 5,043 0.1 5,000 0.2 6,600 0.2 0.9 2236
QAA A M| 2| 4= 50,530 1.4 108,459 3.3 241,103 6.3 | A53.4 | AT79.0
- A Ak 2F4=S) 9,400 @ 0.3 6,303 0.2 8,703 0.2 491 8.0
CEAAIY AE - - 27,042 0.8 109,724 2.9 |A100.0 |A100.0
coldw - - - - 1,496 0.0 0.0 |A100.0
CAYE - - 41,101 1.3 43,124 1.1 |A100.0 |A100.0
A EdETY - - 3,600 0.1 3,600 0.1 |A100.0 |A100.0
e 21,473 0.6 10,319 0.3 23,022 0.6 108.1 NB.7
- 7EHE Y 19,657 0.6 19,694 0.6 51,031 1.3 A0.2 | AB1.5
A A =49 - - 400 0.0 403 0.0 |A100.0 |A100.0
PN =L Rt 651,049 18.5 662,200 | 20.3 707,103 | 18.5 A1.7 AT.9
RS | 610,000 @ 17.3 620,000 = 19.0 656,688 | 17.1 A1.6 AT A
B R A 41,049 1.2 42,200 1.3 43,992 1.1 N N
A | - - - - - - 0.0 -
S w5 A - - - - 6,423 0.2 0.0 |A100.0
=1 ExF 1,925,247 | 54.7 1,756,422 @ 53.9 1,979,071 51.7 9.6 N2.7
ZoExZ 1,275,489 36.2 1,138,184 @ 34.9 1,300,343 33.9 12.1 A1.9
dEHZFZ 434,905 12.4 448,779 | 13.8 488,791 | 12.8 A31 | A11.0
J2ExEZ 214,853 6.1 169,459 5.2 189,937 5.0 26.8 13.1
A g S 174,485 5.0 28,500 0.9 214,940 56 | 512.2 | ~18.8
NN 11,000 0.3 - - 214,940 5.6 - | A94.9
HEHTAS 163,485 4.6 28,500 0.9 - — | 473.6 | #DIV/0!
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